ENGLISH 9 - PRACTICE NO. 1
Part 1: Choose the word or phrase which best completes each sentence. Circle A, B, C, D to indicate the correct answer. 
1. Are you sure you can do it on ____________?

A. yourself

B. your own


C. date


D. secret

2. “Is dinner ready?” - “No, Mother is ___________ it ready now.”

A. doing

B. cooking


C. preparing

D. getting

3. I just can’t __________ that noise any longer!

A. put up with
B. stand in for

C. sit out

D. stand up to

4. You must _____________ these instructions very carefully.

A. bring out

B. carry out


C. carry on 

D. get up to

5. I don’t think we can _____________ him to change it mind.

A. make

B. persuade


C. suggest

D. insist

6. She _____________to tell them where the money was hidden.
A. objected

B. rejected


C. refused

D. disagreed

7. The players were cheered by their _____________as they came out of the pitch.

A. audience

B. supporters

C. viewers

D. public

8. She acted as if she ____________ a clown before.

A. has never seen
B. not saw


C. wouldn’t see
D. had never seen

9. It’s about time ____________ care of yourself.

A. you took

B. you take


C. to talking

D. you talking

10. Most of the computers in the laboratory are __________ now.

A. out of order
B. out of work
C. out of working

D. out of function

    Part 2: Fill in each blank with ONE suitable world. Write your answers in the spaces provided below the passage. 
Neil Armstrong is an American (1)__________. He is known as the first man to walk on the (2)__________. Armstrong was born (3)__________August 5th, 1930 in Wapakoneta in Ohio. From 1949 to 1952, he worked (4) __________ a pilot in the United States Navy. In 1962, he joined the NASA astronaut programs. On July 20th 1969, Neil Armstrong became the first human to step on the moon’s (5)__________. Armstrong received his M.S from the University of Southern California in 1970. He resigned from NASA a year later and (6)__________ 1971 to 1979, he taught at the University of Cincinnati. In 1986, Armstrong was (7) __________ vice chairman of the committee (8)__________investigated the space shuttle Challenger disaster. Armstrong is also well-known for (9) __________ he said as he stepped onto the surface of the moon: “That’s one small step (10)__________man, one giant leap for mankind.”
Your answers:

	1. ……………...
	2. …………….
	3. …………….
	4. ……………...
	5. ……………...

	6. ……………...
	7. …………….
	8. …………….
	9. ……………...
	10. ……………...


Part 3: Choose the word that best fits each of the blanks in the following passage. Circle A, B, C or D to indicate your answer. 


Few people now question the reality of global warming and its effects on the world's climate. Many scientists (1)_________ the blame for recent natural disasters on the increase (2)_________ the world's temperatures and are convinced that, more than ever before, the Earth is at (3)_________ from the force of the wind, rain and sun. (4)_________ to them, global warming is making extreme weather events; such as hurricanes and droughts, even more (5)_________ and causing sea levels all around the world to (6)_________. Environmental groups are putting (7)_________ on governments to take action to reduce the amount of carbon dioxide which is given (8)_________ by factories and power plants, thus attacking the problem at its source. They are in (9)_________ of more money being spent on research into solar, wind and wave energy devices, which could then replace existing power stations. Some scientists, (10)_________, believe that even if we stopped releasing carbon dioxide and other gases into the atmosphere tomorrow, we would have to wait several hundred years to notice the results. Global warming, it seems, is to stay.

1.

A. give 
B. put 
C. take 
D. have

2.

A. in 
B. at 
C. by 
D. to

3.

A. threat 
B. danger 
C. risk 
D. harm

4.

A. Concerning 
B. Regarding 
C. Depending 
D. According

5.

A. strike 
B. strong 
C. severe 
D. heavy

6.

A. raise 
B. arise 
C. lift 
D. rise

7.

A. force 
B. pressure 
C. persuasion 
D. encouragement

8.

A. off 
B. away 
C. up 
D. over

9.

A. belief 
B. request 
C. favor 
D. suggestion

10. 
A. because 
B. however 
C. despite 
D. although

Part 4: Choose the word that best fits each of the blanks in the following passage. Circle A, B, C or D to indicate your answer.
Choosing clothes can be difficult. Some people want to be fashionable, but they don’t want to look exactly (1) ____________ everybody else. Not all clothes are (2) ___________ for work or school, perhaps because they are not (3) ___________ enough, or simply not comfortable. It is easy to buy the (4) ___________ size, and find that your trousers are too tight, especially if you are a little bit (5) ___________. Very (6) ____________ clothes make you fell slim, but when they have (7) ___________ in the washing machine, then you have the same problem! If you buy light cotton clothes, then they might not be (8) ____________ enough for winter. If your shoes are not (9) __________, and if you aren’t (10) ____________ for the cold, you might look good, but feel terrible!

1. 
A. alike

B. like


C. similar

D. same

2. 
A. fitted

B. suitable

C. comfort

D. equal

3. 
A. formal

B. strict

C. uniform

D. suited

4. 
A. false

B. mistake

C. wrong

D. error

5. 
A. slim

B. overweight
C. thin

D. enormous

6. 
A. loose

B. lose

C. loosened

D. lost

7. 
A. lessened

B. reduced

C. decreased

D. shrunk

8. 
A. warm

B. cold

C. hot


D. cool

9. 
A. tight

B. enclosed

C. firm

D. waterproof

10. 
A. worn

B. clothed

C. dressed

D. fitted

Part 5. Choose the sentence which has the closest meaning to the original one.
1.  The student next to me kept chewing gum. That bothered me a lot.

A.  The student next to me kept chewing gum, that bothered me a lot.

B.  The student next to me kept chewing gum, which bothered me a lot.

C.  The student next to me kept chewing gum bothering me a lot.

D.  The student next to me kept chewing gum bothered me a lot.
2.  The man wanted to get some fresh air in the room. He opened the window.

A.  The man wanted to get some fresh air in the room because he opened the window.

B.  The man opened the window in order to get some fresh air in the room.

C.  The man got some fresh air in the room, even though he opened the window.

D.  Having opened the window, the room could get some fresh air.

                          ---- THE END ----
KEYS
Part 1: 
1. B
2. D
3. A
4. B
5. B
6. C
7. B
8. D
9. A
10. A
Part 2: 
	1. astronaut
	2. moon
	3. on
	4. as
	5.  surface

	6. from
	7. appointed
	8. that/which.
	9. what
	10. for


Part 3: 
	1. B
	2. A
	3. C
	4. D
	5. C

	6. D
	7. B
	8. A
	9. C
	10. B


Part 4: 
	1. B
	2. B
	3. A
	4. C
	5. B

	6. A
	7. D
	8. A
	9. D
	10. C


Part 5: 
1. B


2. B



                     --- THE END ----
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